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O&=J| & HiO 2X=
180,000« 12& 2,160
O&I|etM 2| AL =25
280,000 * 122 3,360
OZgsldae == 210,000 x 122 2,520
OLH=XelAlE 2284
1,700,000~ 128 20,400
OJISHIE AIEEYH| 22 23
364, 3502 *402] 14,574
2 s5=34l 41,000 41,000 0
OJI84H &I 3,091,600& 12 37,100
Oolr=ERs= 50,000& * 122 600
Odetes (I 28)
75,0003 * 122 900
OLPG JtA& 7 200,000& * 122 2,400
202 04t 1,500 0 1,500
01 =LHOHI 1,500 0 1,500
SHSIS 243 Ad
60,0002 x5 +53] 1,500
206 M=l 10,000 10,000
01 MHZHI 10,000 10,000
Osdtz I8 AlNEE M7
500, 000& »202] 10,000
405 AHatE = 150,000 0 150,000
01 ML ESFSHI 150,000 0 150,000
Os&SIIBUE A2 JHE HHI72E 150,000
—224 SalaE e S fle FHl2Y
100,000,000 * 194 2 100,000




SN SABRED
M AE SR SE2E WM
Rl SMEIE &Y |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—IJISHH =25t 4 22 & Wi
50,000,000 17K 50,000
sAE 2ckel HIZUA dE 2 37,017 36,842 175
101 @1A4H| 23,602 23,427 175
04 JIZtNZ22 XS 2+ 23,602 23,427 175
Os4AE 2212 HI=ELIA diH 29 oY 23,602
—Jl2s 78,8802 x 1 *212+ 10042 16,565
-5+ 78,8803 18 »442 3,471
—352sE 78,8803 x 1 » 15 1,184
—=gld= 21,218,7202 %4.5% 955
—JdAEE 21,218,720 %3.545% 753
—1E2E 21,218,720 %1.75% 372
— & HEE 21,218,720 +0.962% 205
-3y 752,204 %12.81% 97
201 fet= 3| 13,415 13,415
01 AtR2tc|HI 5,415 5,415
OsAlE 2210 HIELIAHH AIRES +
=t 5,415
— S22 & 222 WX
243,000& %52 1,215
—eZd HIE 7Y
30,0008 12583 2,880
—201&Hl 84 110,000~ 128 1,320
02 35244l 8,000 8,000 0
OsAlE 22t HIZLA dE 29 8,000
—&3e= 100,000& ~ 12& 1,200
—&IIAEE 470,000 12& 5,640
—=ZAIEE 70,0003 * 128 840
—REE ¢58= 320,000& *14] 320
o2d S MEgs A2 Relil N2AE 374,000 374,000 0
= 224,400
Al 149,600
307 elztol & 374,000 374,000 0
= 224,400
Al 149,600
02 2B YA R E £ 374,000 374,000 0
Oz s Megs Add #20l A2
374,000,000 *14] 374,000
s 224,400
Al 149,600
HACCP 215 At=2te| XIZArY 16,000 16,000 0
402 QI2F X201 & 16,000 16,000
01 QI X2 AL E A (KHMITHE) 16,000 16,000




AN SAHSRSH
M AE SR SE2E WM
Rl SMEIE &Y |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHACCP 215 At=2te| RIZAY
2,000,000 +87H 2= 16,000
SOBR AEE A AXE 28] X2 AR 42,575 110,250 NBT7,675
S 22,575
Al 20,000
307 @12t0| & 42,575 110,250 AN67,675
== 22,575
Al 20,000
02 LB HAHE L 42,575 110,250 A\B7,675
ORMAX A4 AXH 7l KA
e 42,575,000 x14] 42,575
= 22,575
Al 20,000
eMME AHIEW OB EANY 20,000 10,000 10,000
= 10,000
Al 10,000
307 @I2to| & 20,000 10,000 10,000
= 10,000
Al 10,000
02 LB HANHEE 20,000 10,000 10,000
OS4ATZ AHIET JIEHE S A
20,000,000& * 14| 20,000
= 10,000
Al 10,000
AZ MALX JISE M2 XA (HEAIY) 14,000 0 14,000
= 10,000
Al 4,000
402 2I2FX=01& 14,000 0 14,000
s 10,000
Al 4,000
02 I SASEZ(0IETHR) 14,000 0 14,000
OAE MZEH IHSE ML KA
7,000,000 +2JH 2~ 14,000
& 10,000
Al 4,000
COHAIE Ald 22l &5 9,737 1,314,358 A342,621
COHAIE EH 9,737 1,314,358 A342,621
101 @124H| 55,972 9,576 46,3%
04 JIZtNZ22 NS+ 55,972 9,576 46,396
OstSEMAIE SZ2el 55,972
—JlZ2s 78,8802 x2EH 212 1204 39,756
—F=5=g 78,8803 x2&*51 8,046
—352se 78,8803 x2& 162 2,525
—=glo= 50,325,440& %4 . 5% 2,265




2N SASREH
M AE SR SERE WM
SRl COHAIE AL 22IY 25 (crol: M el)
H - B8 S9l(30) - NRAY - BAS ol b e HlmS2
—HLEE 50,325,440 *3.545% 1,785
A=t 50,325,440 *1.75% 881
—AHHEE 50,325,440 0.962% 485
-2k 1,784,040 %12.81% 229
201 LBr2| 655,681 647,529 8,152
01 ArR222lt| 106,061 36,845 69,216
OMI|gte2e|EE S 7
180,000&*12& 2,160
Ol Ast AlA sdtE 1Y
20,0002 *857H A 1,700
OANE2e|2gRR~s a8
100,000& %17 1,700
OnATE W= 29=
200,000 x2H +23 800
O&ot=sdtE =92 ot A 2H01Z Al
50,0003 «8R =+ 128 4,800
Ost&a ARE 72 6,701,000& *13l 6,701
OZeSAD| AXAES
250,000& 123 3,000
OZHAIE A2AIE BXI2e|id 29|
1,400,000 = 12& 16,800
OEANE =4 gAY 84X - FX2
= &9 1,500,000 = 12942 18,000
OZOHAIE &4l fIE2] Y
2,000,000& 1242 24,000
OZ0HAIE JIHAH X2 59
2,000,0002 12042 24,000
OZHAIE 020l A& AlA s¢tE 728 &
MMTINE E2ES MH
300,000 +8I1 & 2,400
02 2224l 549,620 610,684 A61,064
OOlENsIEE = 65,0003 *12] 65
Occty SXE224 2 600,000 * 12& 7,200
OMI| &It E =2
2,200,000 *13] 2,200
OAldg a2 ordEd
1,375,000&*12] 1,375
OSAa2F HOISMIAE EIIZA
900,000& *13] 900
OAALOTELS2E
1,000,000 *13| 1,000
O THAZ 2,000,000 *12] 2,000
ON=Z"YIazdL 4,000 *600E 2,400
ORZHIAIAE 9|
120,000& 122 1,440
O SSPIFSITIYNS=1=d 15,0003 *43| 60
OsAEHIINERZ 1,300,000& =123 15,600




2A:

SH: AT NSH RETE WA
ool SHAIE AlE R2lY &5 (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OFSEI =08 3| 130,000 *13] 130
(@EEIFSE= =l 48,000&*13] 48
O=2A(ABS)HUAHAZSHI(ER)
1,200 #4502 | B4 *2J0 2 1,080
OZ0HAIE HEE S2H|
498, 000& x5& 2,490
OHEIAIRALIEHASH|(ASR)
800 5400 2~ 432
OZHAIE HIIAIESE
40,000,000« 12& 480,000
OZ0HAIZ AR AIEZEH| SXI E4=H|
1,280,000& *33| 3,840
OZ0HAIE =E23 1,000,000& *x12& 12,000
O&XEM A2 88 MEIH AIEE
300,000 12 3,600
OfRESHHEE T2 SXE4H|
800,000& 128 9,600
OSHEZHAIY ELXSHAIAE SN2
S| 180,000& x 128 2,160
202 04| 1,140 1,260 A120
01 2| 1,140 1,260 A 120
OTIHAIR 218t o S AIEHA
60,000 x 1 %19 1,140
206 ME4| 1,884 2,093 A209
01 28I 1,884 2,093 A209
O AAZSPMN(220V) FL!
80, 000& =2JH 160
O 222 &3pm(380v) 2
180,000 *5JH 900
OXZEHIE 2EtEdRIIE HE F
16,480 *50E 824
301 LEtEXZ 560 560
11 HAMAHIXI R 2 560 560
ORESAMAIUE EAX S|
8,000& x70H 560
401 A& HILE0HY] 256,500 624,500 368,000
01 Al&H| 252,000 624,500 A372,500
OAHZ2 A2 60,000,000& * 10 2 60,000
OaBIAE B 4,000,000 *3JH A~ 12,000
O&EIIIHEE A2
2,500,000 x 1600 2 40,000
OHIMEED| SXES
3,000,000& * 100 2~ 3,000
OZHI L +28F 3
2,500,000& *23| 5,000
(@)= FAe=— 12,000,000& *13] 12,000




2N SASREH
M AE NEE SS2E e
=l TOHAIE Ald 22l & E (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OCCTV &l fA82%
1,500,000& * 1070 2 15,000
OJIHZH 45838 84
10,000,000 * 10 2 10,000
OAldE BIIEHEEY
2,500,000 22| 5,000
OZOHAIE M ZHEZ AL
25,000,000 204 & 50,000
OZHAIE 2==41D] DHISA
40,000,000 *1IH 2~ 40,000
02 eyl 4,500 0 4,500
OZ0HAIE M 2HES A ZelEY
50,000,000 *%% 4,500
23224 WA S 8,611,818 8,318,682 293,136
faga XA 8,611,818 8,318,682 293,136
PazA X3 8,611,818 8,318,682 293,136
308 AXISHMSO0IA 8,611,818 8,318,682 293,136
08 WEI|Z0CHEE X 8,611,818 8,318,682 293,136
Ostm SAZA X
8,611,818,000& 12| 8,611,818
OlAHE Dty 335,360 0 335,360
& 15,000
Al 320,360
Olahg &4dst 335,360 0 335,360
= 15,000
Al 320,360
HESA Zatxd 285,360 285,360
201 B2 AL| 200,000 200,000
01 ArR222ltl 80,000 80,000
OUESH2| M2lX HAl A S=
1,000,000& 45 4,000
O=&0lalE s 24
30,000,000& 13! 30,000
OSAESD UBIY 2B, AT HE S
1,000 *5,000 2 +23] 10,000
OsalzZ u=s 220 O wi dE
20,0002 *1002 x32! 6,000
OUESASIAE 319 &4 &g
100,000 15 +23| 3,000
OUESAl L22 I8t HsHY 2ad
10,000,000 %13 10,000
OUESAE Zgas 2 2HI0 =AHAR 24
mE=; 1,000,000 & *53] 5,000
OUESAE £22 7
7,000& 1,000 7,000
OALTE SARS =4 DS
500,000& 103 5,000




2N SASREH
ZE: DIADREY JIBEY
el OlaHe 243t (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 At2ZH] 120,000 120,000
O#®OIAZ2F SAL 27 61,000
—QIEOHE 1004 B
11,000,000&*13l 11,000
—HESA AlA3 15,000,000 & 23] 30,000
—0IA g3 &4 10,000,000 & *23] 20,000
OIS aZAUS N
22,000,000&*13] 22,000
O=d BESA FAR 29
22,000,000 *13] 22,000
O=& DIAHE M= 15,000,000 *13] 15,000
202 Ot 2,160 2,160
01 =WHOdbI 2,160 2,160
OSARZ 25 U X0
60,0003 x2% 183 2,160
206 =4l 5,000 5,000
01 =l 5,000 5,000
=& SANII s Mz 7Y
500,000& * 103 5,000
207 AR 20,000 20,000
01 A2 E9H| 20,000 20,000
O=&0l4] 0PI0IE 715 89
20,000,000 * 14! 20,000
301 LPENZ 18,200 18,200
11 HAIAHIXI A2 1,200 1,200
0S4 H2Jt %4 DS U 2Y
60,000 *2H*103] 1,200
14 JIEt2 A3 17,000 17,000
OsaZdz =& 10,000
—SAZAUE AlAZ
6,000,000 x14! 6,000
—SAZAUE I B4
300,0002*10&! 3,000
—HESATEAIZ & SA AN &
50,0003 10 *23] 1,000
OAAN S F2t2st 7,000
— AN FHE W=F
200,000& *10&]*2= 2| 4,000
—SAEM & FItL B4
500,000& 3523 3,000
307 QIZ2t01 A 30,000 30,000
02 QIZHBAAIEER 10,000 10,000
OtE=Hel EE Z&EA M X
5,000,000 *20H £ 10,000
12 QIZHOIIE S| 20,000 20,000




SN SAZSED
M QAN JIPEA
el OlaHe 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=dE=sI84l DUCE(LIIE A & &
2NX) 5,000,000 *47H 2= 20,000
402 2IZtA=01d 10,000 0 10,000
01 QI XHZ AL E (KM THE) 10,000 0 10,000
OUEsA 9IIE M K&
2,500,000 *4H 2= 10,000
g-S401cl S 50,000 0 50,000
< 15,000
Al 35,000
201 er23| 50,000 0 50,000
= 15,000
Al 35,000
01 At2teltl 20,000 0 20,000
Ox& =Yl 82 S84 M=H
5,000,000& *12] 5,000
= 1,500
Al 3,500
Ox& =28icl AdE=E M
5,000& *1,00004 5,000
& 1,500
Al 3,500
OXE =&l AYIEAMHIA & AEE
10,000,000 *12] 10,000
= 3,000
Al 7,000
03 A2 I 30,000 0 30,000
O=% =g1cl =AM 30,000,000& *13] 30,000
< 9,000
Al 21,000
BEdsEXY 78,950 74,398 4,552
sEao & ey 78,950 74,398 4,552
StE IS SEAZNH 68,950 64,398 4,552
201 et 3| 47,000 47,000 0
01 At22t2l] 31,000 31,000 0
OFYNE AXZE 7
2,500,000 x25 5,000
Oogdiid Hig ¢
50,0002 *105+ 102 5,000
OfIdbIZ & 100,000& *385 3,800
Ost=SEIIESAEEH s Wil M&
15,0002 *200& 3,000
Ost=SEIISA2HH 2822 78
200,000 %152 3,000
O&=J| & HIOI X2
100,000 * 12 1,200




SN SABRED
B B)|HsELY
e sEao 2 gy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXJHE AIEEH| 22l =29
200,000 502 10,000
02 S3=gHl 16,000 16,000 0
Ost=F8 s34l 88 d)IRks
600,000& * 122 7,200
Os42EEIIEBNREH 28 Hses(2
B 28 150,000& «12& 1,800
Ost=SE8IISA2dH SE2E It
105,000& * 12 1,260
Ostt=F IS A34dH A3l R
2,140,000 *14] 2,140
Ost=SEIISN2HE AIEEH] JtA &
=5 7 300,000& 122 3,600
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
OsAESEEIBNILH Ha 28
100,000& #5032 5,000
301 EtE NS 16,950 12,398 4,552
14 JIEt2a3 16,950 12,398 4,552
OsttE IISFEUF A=¢ 16,950
—152 ,830,000& x2EH *42] 14,640
—3s2 385,000& x2E *33] 2,310
SESA A MSA23AHS XIJ(KHA) 10,000 10,000 0
201 fer23| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
O82= MH % 5,000,000& 25 10,000
HYRHIH(SAERSH) 167,514 156,384 11,130
el 2| 76,874 67,480 9,3%4
el 24| 76,874 67,480 9,394
101 @124H| 76,874 67,480 9,394
01 &2 69,273 60,102 9,171
OARRIeIRR4Y
11,3193+ 17 *30Al 2+ 123 69,273
02 JIEtAE = 7,601 7,378 223
OAlt2I22+E
10,556 x2& *30Al 2t 122 7,601
=3l 90,640 88,904 1,736
Jl=2&H] 90,640 88,904 1,736
201 er2 3| 55,540 57,224 A1,684
01 At2teltl 53,525 53,525 0
OAMRES Y 151,050~ 169 2,417
OsS+3Hl 150,000& * 162 2,400
OSADI EH, =28 28
100,000 *2CH* 122 2,400




SN SABRED
. HY2IAH(sASRS
&elr D=3l (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
S EEEENEE
15,0002 x50 A+ 123 900
OZEH, BA £l
180,000 *6CH*32] 3,240
O=EAD| Xtz 275,000& =123 3,300
O=AMEXF7E 23,0002 x82t Ax 128 2,208
ON=sEg SHZ 55,0002 12& 660
OF=D| gtz 50,000 *12& 600
O=gt| 8,000& x16Z 5« 12& 7,680
OZ0HAIE =2 60,0002 x462 27,720
02 E324H| 2,015 3,699 A1,684
OXtsS A 100,000 *1CH 100
OZMERE=S 45,0002 *14] 45
OXtsItE A= 70,0002 1CH 70
OxtgssU 100,000& *12& 1,200
OXt&EH & 2254 50,000&*12& 600
202 Ot 30,240 26,880 3,360
01 =WO4bl 30,240 26,880 3,360
OJ 22 HEZ 0|
20,0002 *18F 72 * 123 30,240
203 PR =&IH| 4,860 4,800 60
M FA2LHRFAHI 4,860 4,800 60
ORN2ILRFAI 405,000 12 4,860




